LAMBP, SELF-CLOSING SLIDING DOOR SYSTEM
LM-80 Installation Manual

Thank you for using our product.

Before installation, please read this manual thoroughly to ensure
correct installation.

Please keep this manual at hand for future reference.

ABOUT THE PRODUCT

e This is a self close hardware unit for sliding doors. This unit can used
in applications such as entrances, examination rooms, etc.

e A one way clutch mechanism (damper) provides the braking force
that causes the door to close softly.

e An inclined rail system enables the door to close automatically
without the use of a motor.

e Equipped with a catch mechanism that holds the door open.

eBy rearranging the included parts, it is possible to use the door for
both left and right opening doors.

SPECIFICATIONS |

Solid melamine door Wood door /
Door thickness 13 mm 28 - 40 mm*
, — TABLE OF CONTENTS
Door weight 30-80kg (per door) *
- About the product, Specifications, For your safety and correct installation ............ P1
Door width 700 - 1200 mm COMPONENE PAMS  ....eveeeeiieeeet et P2
Max. door travel 1100 mm (door width1200 mm) Installation drawing  ........cccoooiiieeeiee e P3
Closing drive system Upper rail inclination (3.5/300) INSTALLATION PROCEDURE
Damper Fluid friction resistance type 1.Cutting and Drilling of Upper Rail ... P4 9.Hanging Door  .....oiieeiiiii P6
Control time 7 - 11 seconds (when stroke length is 900 mm) 2.Cuting of Upper RallCover and Mounting Rel (fneeded) ... P4 10.Mounting of Derail-protection screws ... P6
Inital - 54-125N 3.Inserting Plate Nuts and Mounting Gearrack ... P4 11.Mounting of Door stopper ...... p7
nitial operating power e 4.Mounting the Roller .................. P5  12.Installation of the Damper ...... P7
Ambient temperature -10C to +40C 5.Drilling Holes for Upper Rail Mounting ... P5  13.Mounting of Catch at Opened Position ... P8
>:<] When door thickness exceeds 32 mm, prepare another cover as the 6.Mounting of Upper Rail ............... P6 14.Adjusting Open/Close Speed ...... P8
door will interfere against the cover. 7 Fastening of the Mounting Rail(when Using Rail Cover) ... P& 15.Mounting the Rail Cover (when using) ... P8
%2 Determine the door size by giving priority to the door weight. 8.Mounting the Bottom Roller Guide ... P8
Meaning of symbols
Warnin . .
. 9 Prohibited Required
Caution
~

s . - .
&Warnlng: If not followed, death or serious injury may result.

0 This product should be installed by a qualified person in accordance with this manual. If it is not installed correctly, the door may fall and cause injury.

o Provide a frame that can withstand the weight and impact of opening and closing the door. Be sure to use the specified screws and tighten them securely.
If the mounting strength is insufficient, the door may fall and cause injury.

® Do not use this product for any other purpose, or with doors that are outside the specifications of this manual.
\® Do not disassemble or modify any parts other than those described in this document. y
~N

(" .
& Caution: If not followed, injury or damage may resulit.

0 Follow the specified dimensions, specifications, and alignment of the door and frame. Warping, tilting or twisting of the frame or door may cause failure.

o If cutting any parts, make sure to remove any burrs before installation. Also check the upper rail for any left-over burrs or scraps and remove these.
0 This product is a part for architectural fittings. After installation, please check the function and safety of the final product. Please inform the end user how to use the product safely.
o Make sure to check the screws for slack at regular intervals (one month from first usage, half a year, and then one time every year is recommended).
0 If the brake is damaged, there is danger of injury when the door slams shut.Replace the brake if it does not work properly even after adjusting the speed.
® Do not use excessive force to open or close the door. Doing so may cause damage.

0 When vertical frame is not used, use the door stopper to prevent the door falling.

\0 Install the product with two people (in the case of one person, there is a risk of damaging components).

SUGATSUNE



PARTS LIST

Optional parts.

BParts description

The parts can be used for both right and left opening doors. This drawing shows the right opening type.

Parts
Group!

No.

Part name

Remarks

Part number : SC-C08

[Optional parts)

[Optional parts)

[Optional parts]

“‘;3 Damper 1 Leading edge: Braking when closing
) Trailing edge: Braking when opening
g_ [Optional parts]
I . ) .
[a) Pan head screw with captive washer M5x14 *Be sure to install after hanging
- the door, since it might be
Plain washers M5xD10xt1.6 damaged when hanging the door.
Roller A
Roller B
§ Hexagon head bolt with captive washer M8x25 For the roller on the leading edge
‘g Hexagon head bolt with captive washer M8x30 For the roller on the trailing edge
nc:) Pan head screw M8x30 Derail protection screw

Spring lock washers 8

For derail protection screw

Plain washers 8

For derail protection screw

Gear rack

Truss head screw M4x8

Part number: SC-C07
Leading edge: Braking when closing
Trailing edge: Braking when opening

BEEPEBEPEEPRIPEERIR @ EPEEE] ©

Pan head screw with captive washer M5x8

M= NN = NN HA[MN[MN| M| — MMM M| —|—=|M|N

K
8
3 Plate nut [Optional parts]
g Door stopper
g Pan head tapping screw 5x16 Door stopper for fixing and reinforcing
‘% Stopper plate
08 Pan head screw with captive washer M5x8
g Spring
‘z g Truss head screw M4x8 For mounting spring
e 8 Plate nut For mounting spring
=°>§ Stop roller
i

Part number: 162-811, [Optional parts]

gf:)ﬁ; No. Part name Qty Remarks
§"§.§ %) Height adjustment spacer (t=1) | 15
1 Height adjustment spacer (t=0.5) | 1
5. | @ |Bottom roller guide ¢16 2
° 2 Hexagon flange head tapping screw 5x25| 4| Whenwood or plugging @ is used on the floor
§ % @ Hexagon head bolt with captive washer M5x12 | 4 | When the floor is steel
3 Anchor 6x30 4 |When the floor is concrete or mortar
%%.6 @ Angled bracket 2 | Solid melamine door
S5 ’ Hexagon socket countersunk head screw M5x12 | 8 | Solid melamine door
Z4 | @) |Roller Bracket 2 | Forwood doors
,%m Countersunk head tapping screw 5x30 | 8 | For wood doors
Upper rail (L=2200) 1
Pan head screw with captive washer M5x16| & When upperrail mountng surface is sod melaming board
Truss head tapping screw 5x30 8 | When upper rail mounting surface is wood
39 |Rail cover (L=2350) 1
(32 |Side cover 2
33) |Mounting rail (L=2350) 1
Pan head tapping screw 4x12 6
@)

Door stopper

Used in conjunction with @ when the door is not in
contact with the vertical frame, Provided screws:
countersunk head wood screw 4.1x32

®

Door stopper (floor mounted)

Part number: 20773, [optional parts]
Used when not available G

N

SUGATSUNE




The rail mount process drawing

Adjustable dimensions (300 or less)

125 Equally spaced at 300 mm
M5 screw Gradient 3.5/300
HV y -t 4+
% Right opening

E _ Solid melamine door

Front © Front o
[ee]
1= ) a o ~
™ T ™
(o]
® L ) SINE
] I
28 -40 J 13 =
— h —
p— 8 © ~ 8 .%
T 0 °T £
o £ O 5
S D £ c
Y m Y— =
o) % o m
-— -— o
S & S o
O @ [
~ ©
© =
(@) = ©
» S g
£ | < <
=
18 $16 —
™
i 3%@

o o
-~ -~

Wooden door _ e N

Rail

Rail cover

“““ ]

[Optional parts]
For braking when opening
T

[Optional parts]
For braking when opening

length

NI 1

Available opening width

T Door width (700 - 1200)

Right opening

158

é/ Sliding door latching ET-125T
HOE_Osm_ um:m_

Vertical frame

Residual !

(Min. 100)

-
SUGATSUNE

f

%1 When door thickness exceeds 32 mm, prepare another cover as the door will interfere against the cover.

s 1

[Optional parts]

I S

Door stopper (floor mounted) \
[Optional parts]




INSTALLATION PROCEDURE R procedure describes a right opening setup. The left opening setup is installed in the opposite positions.

n Cutting and Drilling of Upper Rail

/\ Caution
® Be careful not to damage Running surface
the running surface, when /
processing the upper rail. A
When A=80 or more
Cut in the direction indicated on the seal. (Front view) Additional drilling of ¢5.5 hole
Right opening: Cut right side (for rail moum'”g)so Rail cut
Left Opening: Cut left side Standard mounting hole /surface
% | Leading edge] / \_! [Trailing edge] %
o ( \i\ L o 0
N D i [ o
~ o f f o {9} e
)=c\ ) ] />=o: > o
hd
15/ 21 ' !
e Additional drilling of 4x¢4.6 holes
(Holes for door stopper(?)
\@ Rail cover 339 Mounting rail
B Inserting Plate Nuts and Mounting of Gear Racks
/\ Caution
0 Use provided screws to prevent interference with the clutch gear of the damper.
0 Firmly tighten the screws to prevent abnormal noise or malfunction.
@ Upper rail
@®Plate nut
(for mounting spring (@)
4 N\
Plate nut w3
(for mounting the gear rack ®) ®Gear rack
(0Truss head screw M4x8
=
OPlate nut \@Gear rack
Upper rail
@®@Plate nut PP | 10Truss head screw
N M4x8

%3 If you want to brake when opening, mount the optional gear rack set on the trailing edge.

4 SUGATSUNE



The procedure describes a right opening setup. The left opening setup is installed in the opposite positions.

ﬂ Mounting the Roller
[1] Hole Drilling on the Door

| Solid melamine door |

Top part of the lateral face of the door

| Wood door |

Top face of the door

v 105, 50,50 50i 50,50,50_ 105 ‘«1204«1204 / <120+~ 120~
Trailing - z o Leading Leading| | © O O O———1—|Trailing
edge \8x¢4 7 hole depth 10 edge edge edge
% No tapping required 4x¢9 hole depth 20 or more

[2] Mounting Parts on the Door

Mount the seal affixed to the roller so that it faces the front (common to right-opening and left-opening).

| Solid melamine door |

(®Hexagon head bolt with
captive washer M8x30

(®Hexagon head bolt with
captive washer M8x25

(®Roller A

adjustment spacer

Attach to roller A
for left opening

Seal

@5 Angled bracket

x4 The number of height adjustment spacers varies according to the door width.
Number of height adjustment spacers (reference)

Door width (mm) Number of spacers
700 - 800 or less 6 pcs
800 - 900 or less 7 pcs
900 - 1000 or less 8 pcs

1000 - 1100 or less 9 pcs
1100 - 1200 or less 10 pcs

| Wood door |

(®Hexagon head bolt with
captive washer M8x30

(®Hexagon head bolt with
captive washer M8x25

adjustment spacer

Attach to roller A
for left opening

28 Countersunk head
tapping screw 5x30

5
@7 Bracket™

x5
/\ Caution
0 Mount the brackets 7 on the center line of the door.

OK  =F——=3

X &

_ N — v B
(DS )]

o0 ———— ]

—— T

E Drilling Holes for Upper Rail Mounting

/\ Caution

0 Make sure to mount to a structure that can endure the
door weight and impact when opening/closing the door.

%8 When dimension B in the right figure (dimension from
the final hole position at 300 mm pitch to the tail position
at full opening) is 155 mm or more, drill the lower hole at
a position 125 mm from the tail position at full opening.

Number of holes from | Horizontal distance | Height difference
(ExciSereee 092 e | from ref. hole (mm) | from ef. hole (mm)
1pc 300 3.5
2 pcs 600 7.0
3 pcs 900 10.5
4 pcs 1200 14.0
5 pcs 1500 17.5
6 pcs 1800 21.0
7 pcs 2100 24.5

SUGATSUNE

Drill the reference hole.
|When mounting on solid melamine board|

¢4.7 hole depth 10 (no tapping required)

[When mounting on wood|
$3.5 hole depth 26

The subsequent holes are drilled with a height difference
of 3.5 mm every 300 mm.

Equally spaced at %6
125 300 mm intervals ~—B=
Reference 6
hole 300»\ Inclination 3.5/300 ‘<—>125 :
%
I A N v
S |
£ — =
I/ Leadi I Trail
3 |i “edge ! Traling|
I I
i Door (fully closed) i Door (fully opened)
I I
i i
in |




The procedure describes a right opening setup. The left opening setup is installed in the opposite positions.

E Mounting of Upper Rail

/A Caution

A Be careful not to damage
the rail running surface
when processing.

Running surface

[ When mounting on solid melamine board |
Pan head screw with captive washer M5x16
or

[When mounting on wood|
Truss head tapping screw 5x30

Fastening of the Mounting Rail (when Using Rail Cover)

Holes on th‘? Mounting rail
. . . . o . ) mounting rail
Drill the mounting rail and fasten it to the position shown in the right figure. — 73
33 Mounting rail . © B T
[ee)
3
/ 5 Screws (not provided)
B Mounting the Bottom Roller Guide
i | Solid melamine door | | Wood door |
/A\Caution ~ Margin -
0 Be sure to use the bottom roller < Margin—~ W Wwall
] yWall
guide@. —-— ey —
“~Door N
Bottom roller @) Bottom roller 40  Door
- Mount it in the part of margin. guide (2 pcs) guide (1 pc)
| | o
. . . | | «
+ Mount it so that the door is vertical. g ! ﬂmi | ¢1g £
- If the floor is concrete, mortar, etc., use the ‘ | = | |5
provided plug to fasten it (drill diameter ¢6). i = -
o o

Wood floor or floor using plugs: 23 Hexagon flange head tapping screw 5 x 25
Steel floor: (23) Hexagon head bolt with captive washer M5 x 12

E Hanging Door m Attaching Derail Protection Screw
ACaution— 0Wipe off any dirt on the running 0 Make sure that the door can be opened and closed smoothly.
(— surface of the upper rail. ) ]
ABe careful not to damaae the 9 Adjust the gap between the door and the vertical frame.
9 Roller (Loosen the bolt®), then insert or remove the height
gear rack or running surface of adjustment spacer(@).)
the rail when hanging the door. 9 9 Attach the derail protection screws to rollers A and B.
o Mount the damper after i’ ;
hanging the door, since it

might be damaged when
hanging the door.

(5)Hexagon head bolt with captive
washer M8x25

% ;)‘ (8) Plain washer
¢/ (7)Spring lock washer

(6)Derail protection screw
(Pan head screw M8x30)

m Bottom roller guide

(—0 Be sure to tighten the screws firmly to prevent the door from falling]

6 SUGATSUNE



The procedure describes a right opening setup. The left opening setup is installed in the opposite positions.

Il Mounting of Door stopper 1® /A\Caution
2%44.6 hole & 0 Fasten the door stopper firmly
! i} to prevent it from falling.

§

\ 9 (12)Door stopper (A3Pan head tapping screw 5x16
P>
RO

X

~ /\Caution N

0When vertical frame is not used, use the
door stopper @ [Optional parts] to
prevent the door falling.

0When@ i(s not usable, uic,e door stopper
floor Optional parts
(19Pan head screw with ( ) P P

captive washer M5x8 @ @

@9Door stopper GeDoor stopper

[Optional parts) (floor mounted)
g P [Optional parts] )

IE Installation of the Damper
[1] Assembly of Damper

Damper is non-handed. Right and Left-opening is alternative by the direction of clutch gear. The way to remove the clutch gear is the reverse of the installation procedure.
P

Insert the clutch gear and washer to the shaft
portion of the braking device body.

/\Caution

Assembly or dis-assembly of the damper and the clutch gear
must be done by the specified manner.
® Do not rotate the clutch gear with too much force or turn it in

the opposite direction of the specified direction. Otherwise, it
may be damaged.

Snap retainer

N

Snap retainer
(Insert onto the groove from the side.)

Rotating direction

For left opening For right opening Shaft -
(forL) (forR) Color of the center part -~
3 view from the front 7
D @ Braking when: Braking when O
@ Cent rt closing opening @) ]
5 = enterpa  [Optional parts)
Rightopening| White | Blue
Leftopening| Blue 1 White groove
\_ ) Main body L Y,
[2] Installation of the Damper
. Braking when closing Braking when opening [Optional parts]
— ACautlon N\ With the door is opened more than With the door closed, attach the damper in a
Check the lateral and braking 600 mm, attach the damper in a position that does not touch the rack.
directions of the damper ( [H-[1] ) position that does not touch the rack.

The damper will not work if the
direction is wrong.

0 Be sure to install the damper after
hanging the door, since it might be
damaged when hanging the door.

Roller on the

leadingedge () Pan head screw with Roller on the -
captive washer M5x14 trailing edge

SUGATSUNE 7



The procedure describes a right opening setup. The left opening setup is installed in the opposite positions.

m Mounting of Catch at Opened Position

[1] Mounting of Stopper Roller and Spring
/A\Caution

0 Use the specified screws. Otherwise, it may
come into contact with other parts.

Already mounted (P.4 - E])
Plate nut

Spring

Truss head
screw M4x8

(19 Stopper roller
©
Pan head screw with

Roller on the captive washer M5x8

leading edge

[2] Adjustment of Catch Position and Catching Force

Adjust the position of the spring so that the door stops at the fully
opened position. Using the dimensions shown in the figure below
as a guide, mark the rail to determine the position.

Adjust the catch force by raising and lowering the position of the stop roller.
Strengthen: Raise the stop roller
Weaken: Lower the stop roller

. . . (Fully opened position
Available opening width +160 | of the door)

(Distance from rail end at the leading edge) 0

Stopper roller

X

[3] Fastening stopper roller and spring

m Adjusting Opening/Closing Speed
/A\Caution

0 Lightly turn the adjustment screw. When it has reached the
end, do not turn any more.

A The closing speed varies by ambient temperature.
When the temperature is high, the door closes fast; when it
is low, the door closes slowly.

Turn the adjustment screw of the damper with a flat-blade screwdriver.

- Adjustment of closing speed: Let the door close automatically
from a fully open position.

To make it slower: Turn in the S direction
To make it faster: Turn in the F direction

Damper

Adjustment screw

Flat-blade screwdriver

Slower
(S direction)

- Adjusting the opening speed: Same as adjusting the closing speed

[E Mounting the Rail Cover

/A\Caution

0 When door thickness exceeds 32 mm, prepare a cover panel separately since the door may touch the provided rail cover.

0 Side cover must be fastened with the provided screw. Or else, the side cover may fall and cause injury.

0 Even if the provided screw cannot be used, be sure to fix the side cover with L-shaped fixture, since the side

cover is just fitted to the mounting rail and may fall easily.

Rail cover

lﬁ Groove

@3 Mounting rail

33 Mounting rail

(32 Side cover

(4Pan head tapping

screw 4x12 BDRail cover

SUGATSUNE KOGYO CO.,LTD
Tokyo, JAPAN Shanghai, CHINA
Phone: +81 (0)3 3866 2260 E-mail:export@sugatsune.co.jp Phone: +86 21 3632 1858

SUGATSUNE KOGYO (UK) LTD Guangzhou, CHINA

Reading, UK Phone: +86 20 6639 3552
Phone: +44 118 9272955  E-mail:sales@sugatsune.co.uk

SUGATSUNE EUROPE GmbH

Diisseldorf, GERMANY
Phone: +49 211 53812900  E-mail:sales@sugatsune.eu

Mumbai, INDIA

SUGATSUNE SHANGHAI Co., LTD

E-mail:lamp@sugatsune.com.cn

E-mail:lamp@sugatsune.com.cn

SUGATSUNE KOGYO INDIA PRIVATE LIMITED

SUGATSUNE AMERICA, INC

California, USA

Phone: +1 310 329 6373 E-mail:sales@sugatsune.com
Chicago, USA

Phone: +1 312 461 1081 E-mail:chicagoshowroom@sugatsune.com.

SUGATSUNE CANADA, INC.
Phone: +1 514 312 5267 E-mail:support@sugatsune.ca

Phone: +91 22 28314490/91 E-mail:sales@sugatsune.in
1ISO9001(Japan Offices and Sugatsune America) and 1ISO14001(Chiba Production division and Logistics center), certified.

2021.02 0386-5



